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Sin(0+ g) — Siﬂ(%-(-@)) — cos(—60) — cosh
sm(@-i-g) — —sin 9—5) — sin 5—0) — cosf
cos(9+% — cos(%—(—@)) — sin(—6) — —sinf

T T ™ :
Cos(0+ 5) — *COS(@*E) — *005(5*9) — —sinf
sin(—&—i— %) — cosf
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cos(—@—k;) — sinf
. T . i
sm(ﬁf?) — —sin 79+E) — —cosf

v s .
005(9—5) — cos(—9+ 5) — siné
. T ) ™
sm(foE) — fs1n(f9+5) — —cosf

cos(—@—%) — —cos(—@ﬁ-%) — —sind



sin(@+x) — —sind (4]

cos(@+m) — —cosb
sin(—0+m) — —sin(—6) — sinf
cos(—0+m) — —cos(—6) — —cosh
sin(@—x) — —sind
cos(@—nm) — —cosf
sin(——x) = —sin(—6) — sinb
cos(—0—m) — —cos(—0) — —cosh

—0+§7r) COS(—Q“F%TI’)

. 3 3 .
sm(@-i- 27r) cos(0+ 27r) sin 2

. 3 3 . 3 3
sm(@ 5#) cos(@ 577) sin{— 60 Eﬂ) cos( 0 Eﬂ)
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sin > 0

\ cos <0

cos <0

<3-2>

(/N
N

cos <0

sin < 0

‘ cos <0

sin <0 ‘ cos >0

<2-1> | = cosé sin(&%———w <4> = — cosf
2-1> | = —sinf cos(9+ =7 <4> = sinf

<I> = cosf sin(gfﬁ%-——w) <3-2> | = — cosf

<1> = sinf cos(—0+—7r) <3-2> | = —sinf
<4> = — cosf sin(ﬂ—— 2-1> | = cosf
<4> = siné cos(&— 2-1> | = —sind
<3-2> | = — cosf sin(AfHAf <1> = cosé
<3-2> | = —sinf cos(—@—%w) <1> = sinf




sin(@+ ) <3-1> | & —siné
cos(@+m) <3-1> | = — cosf
sin(—0+x) | <2-2> | & sinf
cos(—0+m) | <2-2> | & — cosf
sin(@— ) <3-1> | =k —sinf
cos(@—m) <3-1> | = — cosf
sin(—0—m) | <2-2> | & sinf
cos(—0—m) | <2-2> | = — cosf
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sin(G—F%) H sin(@+7) ] sin(@—k%w)
. T . . 3
sm—9+3 G sin(—0+ ) | 51n—9+57r
. T . . 3
sinlf— — F sin(6— ) D sin(f— ==
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s1n(—0— 5) E sin(—0—m) C s1n(—6’— 577)

A B G H =cosf C I =sind DJ] = —sinf EFKL = —cost



cos(@ + %) cos(@+m) cos(@ + —77)

cos(—é?—i—%) cos(—0+m) cos(—6+—7r)

cos(9 — 1) cos(@—m) 005(0 — iw)
2 2

cos(—O—ﬂ) cos(—0—m) cos(—G—iw)
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A F GL =sin#

BEHK = —sin#

CDI]J = —cost




